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ACCOUNTANCY
@R
( Principles and Practice of Financial Accounting )

( Tt e & Tag=a va =aawr )

(320)
Time : 3 Hours ] [ Maximum Marks : 100
qm ;3 U | [ qUifes : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and B’.

(i) Al questions from Section ‘A’ are to be attempted.

(i) Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.

fEor: () 39 IH-T 0 9 wug E—a@ve ¥ u§ @vg |
(i) w@vg ‘A Fadt T F TA BT B
(i) WU ‘T U UF U 3feek foshed T | WeATIGT 1 hael Uk Torehed & & YT % W A B

SECTION-A
Qus-A

1. Name the two situations with regard to balances while preparing the Bank
Reconciliation Statement. 1

ok G e s an 91 o greey B9 areft 2t feurfaat % am s

2. What does ‘debenture’ include as per Section 2(12) of the Companies Act? 1

wrt srfarfrem Y arr 2(12) % AFER ForE’ § - afffod 27

3. State the position of Partnership Act, 1932 on admitting a person into
partnership. 1

qreert 4 fhH =t Bl T9w °F o "Ry § "R SAtfHem, 1932 i feufa wr wmm
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4. Pranaya and Gunakshi are partners but do not have any partnership deed.
There is dispute between the two on the following points. How will you deal with
them? 2

(i) Pranaya started giving full time to the business while Gunakshi comes
only once in a week. Pranaya demands salary @ ¥ 6,000 per month.

(ii) Gunakshi gave to the firm ¥ 60,000 as a loan and wants interest on the
amount @ 18% p.a., which is the market rate of interest.

U TR TUMeft AISER § Tk 3R wiE WRRN Ho T/l | i forget W et § Have
21 MY 3T THTEN e TR & A

(i) T FEETE I G EI & TR Sk qONE HHIE § T 9R A 2| YR € 6,000
fet |TE I T 7w @ R

(i) et 9 wH w1 ¥ 60,000 ®U k wY # U wd G 3@ AR W 18% dAMMH A =S
red! B, St T oI =t < R

5. Explain ‘recording of transactions’ as one of the components of computerised
accounting software. 2

FHFIHA AT ATFea o Ueh Heeh o &4 H ciadi-ohl i@ ol THeE |

6. Prepare Accounting Equation on the ‘basis of the following : 2
(i) Ashish Ghosh started business with cash— 40,000
(ii) Purchased furniture for cash—¢ 5,000
(i) Purchased goods from Sonali— 8,400
(iv) Paid for wages—° 1,200
7 % STUR W TR FHie0T IR AN
(i) A =Y 9 T 40,000 AR A FEAE IRET TR
(ii) TR T FRE HF [RIT—F 5,000
(iti) AT | AT TET—F 8,400

(iv) WS F YA foR— 1,200

7. How does Trial Balance help in locating errors? Explain. 2

TATE STYfEAT T Ga H 1ohT ThT Tee: ol &7 dueey]
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8. Explain the term ‘Capital Receipts’ by giving an example. 2
Ysfia wfeEi w1eg Wl IATET TR HEEET |
9. What is ‘accounting voucher? Name any two types of accounting vouchers. 2

‘ST THTUTR Rl 319 18T | W@ THIUIh o foheel St Tehii oh 719 <oy |

10. Enter the following transactions in the Journal of a trader : 4
2012
June 1 Purchased goods from Robin and paid by cheque—
¢ 7,200

» 6 Paid for the repairs of office furniture— 540
» 11 Withdrew from bank for private use—? 1,800

» 20 Goods sold to Samuel on credit of & 12,500, allowed him
trade discount @ 10%

= et o w STt % e 1 ufaiset fie
2012
S 1 Tfed § A1 & 3T o 3R =% @ A fha—T 7,200
» 6 AT FTaR ol FOHA & fIT e fRr—= 540
» 11 &% ¥ st 3w & foe w99 fee—F 1,800

» 20 TEHAA H T 12,500 H HIA IR W F=1, IR AMMNS G
& 10%

11. There are two accountants Siddhant and Nidan. Siddhant is of the view that
accounting has only advantages; while Nidan agrees with him that accounting
has many advantages but it has some limitations also. State any four
limitations of accounting in support of Nidan. 4

forgra o fiem @1 cemer §1 fagra & o 2 T S % haa @y @ @y §; fem
wﬁm%%ﬁé@m%aﬁ‘m%éﬁmwﬁ@aﬁm%ﬁ%m%m%wﬁqﬁ

AT ST fohea | ST GTHTSAT ohT 0T ShT ST
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12. State, in brief, the meaning of Dual Aspect Concept of Accounting. Give its
significance. 4

Ao ot fgusfa saumon & 1o % 9899 § G| 9% " i 3g@ i |

13. Give two disadvantages of Cash Basis of Accounting and two disadvantages of
Accrual Basis of Accounting. 4

Uohe YT TREieh hl a1 BT 991 TSI STTUTRd oiaier hi &t 't |

14. Explain wrong totalling as errors of commission by giving an example. Show its
rectification by making Journal Entry. 4

T 3TYRE F TH YRR AR H A hl ISR qohd HHSTST | ST, Safd & g6en wMed
+f femmsu|

15. What is meant by ‘shares issued at premium’?, State the purposes for which
securities premium amount can be utilised. 4

‘ot % fifte S A w27 ufayfa fiftem S wfer @ swm e 32w %
foru femn st weRan 7, waTEU)

16. The accountant of M/s. Sanwariaji & Co. found that on 30th June, 2012 firm’s
bank balance as shown by Cash Book was not the same as was shown by the
bank statement. He compared the two and found the reasons of difference
which were as follows :

(i) Cheques of ¥ 15,000 were deposited in the last week of June but of these
cheques of ¥ 4,500 were cleared in the first week of July

(i) A customer had directly deposited ¥ 14,500 in firm’s account

(iii) Bank had paid insurance premium of ¥ 6,400 as per the instructions of
the firm

(iv) There were bank charges of ¥ 1,200 in the bank statement

Prepare Bank Reconciliation Statement as on 30th June, 2012 to show the

balanice as per Pass book while balance as per Cash book was v Z20,200. 4
www.FirstRanker.com
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Ho HATETST WS Fo o TWIHR F 4R o6 30 57, 2012 FI Uhe & FRT qIAT T e I

o forawor g fe@me e 9w % wHE TE B IE S o e TR e et % Rl W

Tl ST S 39 TR 9

(i) ¥ 15,000 % Jeh S % W GHE | STHT R T o AAfhd 379 d € 4,500 % Fehi
1 YA s o T2W TH1E H T g

(i) TH UESH 4 T 14,500 i TERT Hd wF & @rd H A H &

(iii) WH o TGET % IFER S 4 € 6,400 & ST iR #1 A R

(iv) S fo=Ro § € 1,200 S Yook & o

U FH FRI Y FMd FC 30 A, 2012 A ok GHIEM om0 dam A et ks o=@l

IR T2 ;W € 26,200 |

17. Sonu, one of the three partners in a firm, retired from business. His share in
profits and losses was % His share in goodwill of the firm calculated on the

basis of 2 years’ purchase of superprofit was ¥ 20,000 and the firm’s average
annual profit was ¥ 40,000. In the same business, normal rate of earning profit
is 10%.

Calculate the amount of capital invested in the firm. 4

Th FH o o AEERT § W T G e WAl g | e -8 4 g8 2 o1 wrier o

w1 il Tfd # 3HH 7T € 20,000 o NEH momr Aferensy & S 9t o T WA TE off)|
%H 1 3 9 T 40,000 1N o | I THR % Faa@™ H HHA T I h R 10% 2|

w4 i fafsra €t i o s

18. V. B. Dream Home Construction Ltd. offered to public for subscription its
100000 shares of ¥ 20 each at a discount of 10%. It received applications for
95000 shares. The amount was payable as follows :

On Application—? 10 per share

On Allotment—% 8 per share

Applications for 5000 shares were rejected on technical grounds and their
application money was returned. Remaining applicants were allotted in full.
The company received allotment money on all shares except on 500 shares
held by Rashid whose shares were forfeited. Forfeited shares were later
reissued at ¥ 15 per share fully paid.

Make Journal Enfries of the above transactions in the books of the company. 6
www.FirstRanker.com
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dto o M TW i fofo 7 30= & 20 Ufd & 100000 9 AMMEH 2 10% I3 W
SHETIROT oh! ST fohU | 38k I 95000 390 o fIT 3A1daq 7| TR 1 JTaH 36 TR
IEDIESICIIDINE

3ded W—F 10 9fd 3790
3reied W—7F 8 ufd 31w

5000 37N & SATEEHT ol deh-lsh! MU W & L G T2 X 3Tehl Aae Uiy «er &t 8|
Y AEGH H G AT A T B w gt s f eTee ufvt uw A | e wie
q, S 500 AT HT GRS AT, YA el {oha1| ITeh 3T 1 STeq L foran 1| seaq o Mg
3T R A6 | T 15 Ui 7% quied g R T )

T TGl Sl AT 31 JEdhi | ST SfafEEr i |

19. A company wants to issue its 1000 8% debentures of ¥.100 each with a
condition stipulated to their redemption. Following are the cases of conditions
stipulated to redemption of debentures. Make Journal Entries for the issue of
debentures in these cases : 6

(i Debentures are issued at ¥ 100 and are redeemable at ¥ 110
(i) Debentures are issued at ¥ 110 and are redeemable at ¥ 100
(iii) Debentures are issued at ¥ 90 and are redeemable at ¥ 100

(iv) Debentures are issued at ¥ 90 and are redeemable at T 110

T FFOA 0 € 100 Ufd %k 1000 8% FUGE! 1 FHA 3k WMeE | S A ok A1
FHEAT ArEdt 21 A= o ok wed "SR wd @ T 21 e el 8 o & fema B
REEIECIRIEIEACIIE L

(i) T H € 100 R fHHT 3 F 110 W IMeA
(i) T H € 110 W FHET @R § 100 W IMeA
(iii) O 1 § 90 W i 3 § 100 W e
(iv) T H T 90 W A IR € 110 W Iem

20. A student of accountancy is confused when a Cash Book is prepared by a not
for profit organization, then why is a Receipts & Payments A/c prepared and
what is the difference between Cash Book and Receipts & Payments A/c. Help
him in removing this confusion by explaining the reason of preparing Receipts
& Payments A/c and giving differences beetween Receipts & Payments A/c and

Cash Book. (6}
www.FirstRanker.com
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A 1 U foeneff uftg g fF 99 v -l Tied U 9 dUR AT g, af R
IIH T ST ST 1 SETaT @ 9 Tehg a2 3T Wil ud Jirde @rd | # 3 2| WiE v
YA WTAT - 1 SR ST adT T U9 T @1 3R Tohg J8l § 3T SdTeht 36
99 I G HA H TR H |

21. From the following Trial Balance of A. B. & Co., prepare Trading and Profit &
Loss A/c for the year ending on 31st March, 2012 and the Balance Sheet as on
that date : 10

Trial Balance as on 31st March, 2012

Dr. Balances Amount Cr. Balances Amount
g ¢

Stock as on 01.04.2011 19,000 | Capital 1,00,000

Purchases 1,02,000 | Sales 1,75,000

Drawings 12,000 | Creditors 24,500

Debtors 24,000 | Discount Received 500

Wages 6,500 | Loan (10% p.a.) 40,000
Insurance 4,000
Carriage Inward 1,500
Salary 8,000
Interest on Loan 2,400
Advertisement 4.000
Bad Debts 1,400
Cash in Hand and at Bank 8,000
Building 1,00,000
Computers 44,000

Service Charges of

Computers 3,200

3,40,000 3,40,000

Adjustments :

(i) Closing Stock was valued at ¥ 12,000
(ii) Provision for Doubtful Debts to be made at 5% on Debtors

(iii) Outstanding Expenses were Wages ¥ 1,500 and Insurance Premium was
paid for year ending 30th June, 2012

(iv) Loan was taken on 1st July, 2011

(v]  Depreciate computers @ 20%
www.FirstRanker.com
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To sffo WL o % i U U qefue | o Gwify 31 #rE, 2012 % U =HUR T§ AH-81
@rar s1EE qur 3H fafy = feufa-faemor oft s

31 A7, 2012 F g7 I & 7@ de9e

T I afsr ST 9 afsr
g g

W% 01.04.2011 =i 19,000 | 4sh 1,00,000
T 1,02,000 | faz= 1,75,000
AT 12,000 | @HER 24,500
e 24,000 | ST WTH g3 500
gt 6,500 | 9T (10% aTiek) 40,000
ot 4,000
AT TS 1,500
I 8,000
O W A 2,400
oo 4,000
3T 0] 1,400
TEAY Uhg Td ok H Uhg 8,000
T 1,00,000
FFEY 44,000
FFG T AT ook 3,200

3,40,000 3,40,000

(i) A=W Tk & qod & 12,000 3T T
(ii) <ER W 5% | Wiy 0N % folu yae™ w1 7

(i) 3FEd =TI I—ASGY € 1,500 AT S iR F e 9 gHiE 30 [, 2012 6
% foru foem o 2

(iv) o1 1 e, 2011 i forn wn

(l}) HSFQ\Zﬁ T 20% ol A0 ] %
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Following is the Receipts & Payments A/c of Rural Traditional Sports Club for
the year ending on 31st March, 2012. Prepare Income & Expenditure A/c for
the year ended 31st March, 2012 and the Balance Sheet as on that date :

Receipts & Payments A/c

for the year ending on 31st March, 2012

Receipts Amount Payments Amount
¢ ¢

To Cash in Hand 6,400 | By Tournament Expenses 4,200

» Subscription : » Sports Material 6,800

2010-11 600 » Fees of Coaches 8,000

2011-12 4,400 » Refreshment 2,400

2012-13 300 5,300 | » Stationery 800

» Govt. Grant 20,000 | » Newspapers 600
» Donation 8,000 » FD with Bank

» Sale of Old Newspapers 120 (30.09.2011 @ 10% p.a.) 10,000

» Sale of Old Furniture »~ ‘Maintenance of Ground 1,200

(cost ¥ 500) 180/ » Cash in Hand 600

» Cash at Bank 1,400

»  Furniture 4,000

40,000 40,000

Additional Information :

At the beginning of the year, the Club possessed Furniture of ¥ 2,500;
Sports Material of ¥ 7,600; Subscriptions in arrears at the beginning of
the year were ¥ 1,000 and at the end of ¥ 600.

Sports Material at the end was of ¥ 2,400.

Depreciate Furniture @ 5% p.a.

320/0SS/212C
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= oo g W #9931 A, 2012 w1 GHTE 98 1 U UF TaE @ fen
T R 9 gHIH 31 W, 2012 % U -5 @rar sqey qor gt fafyr s fedrfa-foemm

TR Hifs
gIfd Tg @rar
9 gEIfg 31 9, 2012 % fo@
grfear E YA E
g g

T Uheg 6,400 | ZATHE == 4,200
== T B A 6,800
2010-11 600 gfsterent i HG 8,000
2011-12 4,400 EQLIC] 2,400
2012-13 300 5,300 | Wyl 800
THRT TIEH 20,000 | FHMER-T 600

HERVEY 8,000 | # Hrafer 5
T THTER-TAT 1 fosa 120 | (10% a1fd® ¥ 30.09.2011 =) 10,000
T HeR 1 fosa el [T 1,200
(emTd 47 € 500) 180 | et Ak 600
Fe 1 e 1,400
e 4,000
40,000 40,000

SR G :

T o YT H FA9 o 98 AT BAteR € 2,500 H, @ FE K IWH € 7,600 Fl; T
& UREY | 3789 =1 @ 1,000 9971 99 & 3Td H § 600 |

T o 3 H T K3 6 GHH € 2,400 ToI F AT

FrTE T 5% aTies § STLF0 ST 2 |
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22. Following is the Balance Sheet of Rakesh and Mukesh as on 31st March, 2012.
They share profits and losses in the ratio of 3 :2 :

Balance Sheet of Rakesh and Mukesh
as on 31st March, 2012

Liabilities Amount Assets Amount
g ¢

Sundry Creditors 20,000 | Cash at Bank 10,000
Mukesh’s Mother’s Loan 25,000 | Debtors 25,000
General Reserve 15,000 | Stock 19,000
Capitals : Investments 60,000
Rakesh 80,000 Plant and Machinery 30,000
Mukesh 60,000 1,40,000 | Motor Vehicle 40,000
Furniture 16,000
2,00,000 2,00,000

The firm was dissolved on that date and following transactions took place :

()

(%)

(iii)
()

Assets were realised as :

Stock—% 20,000

Investments—< 65,000
Furniture—% 12,000
Plant and Machinery at a depreciation of 20%

Debtors—¢ 24,000

Motor Vehicle was taken away by Mukesh at a value of ¥ 30,000. He

agreed to pay off his mother’s loan

Sundry Creditors were settled at a discount of 5%

Realisation expenses amounted to ¥ 1,000

Prepare Realisation A/c, Partners’ Capital A/cs and Bank A/c to close the
books.

10
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THI TF G H1 31 W, 2012 H feufa-faawo = 213 302 % g § @nv-=i
ﬁwm%

THIT 3R gobeT 7 feggfa faamor
31 47, 2012 Ht
g ¢
fafi e er 20,000 | § Uehg 10,000
Hor¥T oh! ATATSI 1 0T 25,000 | 3TER 25,000
IR0 G 15,000 | ©i® 19,000
ISt EER 60,000
TR 80,000 I Ug wefi 30,000
e 60,000 1,40,000 | HieT 91ed 40,000
ity 16,000
2,00,000 2,00,000

3t fafer =t w1 TETeE geT qun e e U

(i) G ¥ aEel 39 TR §S ¢
wiH—F 20,000
few—F 65,000
HER—& 12,000
I TF AR W 20% ATLqT07
TTER—T 24,000
(i) X AT B GRe 4 € 30,000 § & foT| 98 A9t WarSit % 0T dl gehdl R
fau oft gema &

(i) Tafir SHERT w1 5% o3 W fEETe gehdr X femm mn
(iv) St == T 1,000 &
%H % WAl ! a8 F ok I aEelt @Ta1, |eieri o YSi @Td a1 S @i sH1E |
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OR / 31ugdt
Amogh and Pranaya are partners in a firm sharing profits in the ratio of 4 : 3.
On 31st March, 2012 the position of the firm was as follows :

Balance Sheet of Amogh and Pranaya
as on 31st March, 2012

Liabilities Amount Assets Amount
¢ ¢

Bills Payable 12,000 | Bank 8,000

Creditors 18,000 | Debtors 21,600
Capitals : Less : Provision

Amogh 40,000 for Bad Debts 600 21,000

Pranaya 30,000 70,000 | Stock 18,500

General Reserve 14,000 Plant and Machinery 32,000

Computers 24,000

Goodwill 10,500

1,14,000 1,14,000

On 1st April, 2012 Krishna was admitted.in'the firm as a partner. He was to get
%th share in the profits of the firm which he acquires equally from Amogh and

Pranaya. Other terms were as follows :

(i) Krishna will bring in ¥ 40,000 as his share of capital and ¥ 20,000 as
premium

(i) Provision for Bad Debts on Debtors was to be raised to ¥ 1,000 and 10%
depreciation was to be charged on computers

(iii) Stock was to be valued at ¥ 22,000

Prepare Revaluation A/c, Partners’ Capital A/cs and Balance Sheet of the new
firm after Krishna’s admission.

www.FirstRanker.com
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I 3R YURT Tk BY U AISER 8 IR 1 I a4 : 3 % U § Hd 2| 31 HH,
2012 =1 %1 i feufd 3@ yspr @ of .

37T 37K Ui 7 feifa faeror
31 #r=, 2012 FI
g g
EORCEP] 12,000 | s 8,000
IGELALY 18,000 |3Ter 21,600
ISh 2T« 3TITH RN 6
7 40,000 IGLESIERIE] 600 21,000
JUTT 30,000 70,000 | ¥ih 18,500
T T 14,000 | 9= Ud Hfd 32,000
P 24,000
Tt 10,500
1,14,000 1,14,000

1 219, 2012 1 FON 1 ®H § Th AER & &Y G G2 {01 38 & % ordi & 2 =60 9w
& ST o S 3T ST 3T YR § Se-gel |1 H | 3T I 39 YRR ¥ off -
(i) FM T 40,000 TUF 9T I GS{t o AT qAT € 20,000 i &

(i) SR WX ITUTH UM o fTC N R age € 1,000 FEAT o7 G FRE W 10%
T LI AT oA

(iii) Tl H qeA ¢ 22,000 Fuffa form mon

QAR T, WERR % USil WA SFIEY 99T FO0 k YAY % UgEnd Sl A8 BH b
Feurfa-faamor qam il
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( Analysis of Financial Statements )

( Torfra feraont st forgerson )

How does ‘analysis of financial statements’ help the management? 1

‘Tt foraort =1 fovawer’ yery i fore YehR § HETEdAT Ye Al 27

State the meaning of ‘working capital turnover ratio’. Give the formula of
calculating ‘working capital turnover ratio’.

“FRiElia gSt 3TEd STguTd W1 1Y FaRU| RN Yl SAEd AT Sl TOFT T BiH

it |

State the meaning of financing activities in reference to Cash Flow Statement.
Give two items of cash inflow from financing-activities.

Uohe Tae faawor & Hedl 7 forftar fomensti o 31ed wrameu | o fomneti @ Tane s=adare 6t <t

TSl o W Y|

Net Income for the year, 2011-12—% 1,20,000

Depreciation on Fixed Assets—¢ 40,000

From the following information, calculate ‘Cash Flow from operating activities’ : 4

Statement of Current Assets and Current Liabilities

Particulars 31.03.2011 | 31.03.2012

¢ g
Cash 1,40,000 1,30,000
Debtors 1,80,000 2,10,000
Inventories 3,00,000 2,80,000
Prepaid Expenses 18,000 14,000
Accounts Payable 1,16,000 1,00,000

320/0SS/212C
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7 g= 8 “wfEren TRnstt 9 e yare &t o AN

2011-12 &l 35 3™@—F 1,20,000
Tft gl W 3EEET— 40,000

1] GEIfET SR T aFaTaAl H1 fderor
fareror 31.03.2011 | 31.03.2012
g g
TS 1,40,000 1,30,000
TR 1,80,000 | 2,10,000
Tl 3,00,000 | 2,80,000
Taed 2 18,000 14,000
EORCIG] 1,16,000 1,00,000

27. (a) Given below is the Balance Sheet of M/s M. B. Ltd :

Balance Sheet of M/s M. B. Ltd.

Liabilities Amount Assets Amount
T T
Equity Share Capital 5,00,000 | Net Fixed Assets 15,00,000
Preference Current Assets 12,50,000
Share Capital 5,00,000 | Discount on Issue

Reserves 2,50,000 of Debentures 50,000
Profit for the year 2,50,000
10% Debenture 5,00,000
Current Liabilities 8,00,000

28,00,000 28,00,000

Calculate Return on Investment. 4

www.FirstRanker.com
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f= Bo wHo o feTo A1 fesrfa-foemor feam mn 2

To wHo dfto foro 7 fEeIfa-faaor

aFarg arr Frqfear El
Y Y
THAT 37 Y 5,00,000 | Y& €18 TRl 15,00,000
AR 379 Yt 5,00,000 | =Te] FF 12,50,000
LR 2,50,000 | 0Tt o A W &g 50,000
ELTEa G 2,50,000
10% =RUT9= 5,00,000
=T, AT 8,00,000
28,00,000 28,00,000
fafnfsa gem 3 Hifs)
(b) Net Sales—¢ 2,40,000
Opening Stock—¢ 20,000
Closing Stock—¢ 30,000
Gross Profit—20% on cost
From the above given information, calculate Stock Turnover Ratio. 2

3% fawa—F 2,40,000
IRy ®id—T 20,000
Af<m =iws—T 30,000
ghel ATH—aNTd | 20%

I I o SATEN W Tk A 3T i TTIHT HIfSTT |
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OPTION-II
IEET M|

( Elementary Cost Accounting )
( Ifrires ST ST )

23. What is Reorder Level of Stock? 1
TR 1 AR T A T 1Y 77

24. List the operative policies that are formulated by management with the help of
cost accounting. 2

TN i@k st el 8 aweeh i-Ht afterer Hifaat s 8, 39t gfa samsu

25. What are ‘direct expenses’? Give two examples of direct-expenses. 2

‘Teaed S T B TcIel 9 % |1 Iere i

26. Show the cost of Closing Stock by recording the following transactions in the
Stores Ledger of a firm using LIFO method : 4

2012
August 1 Opening Balancé—~350 units @ ¥ 52 per unit
Receipts :
August 4  Purchase vide Order No. 35—450 units @ ¥ 50 per unit
» 9 Purchasewvide Order No. 40—350 units @ ¥ 50 per unit
Issues :
August 6 Vide MR No. 18—600 units
» 16 Vide MR No. 24—420 units

U B4, S foh LIFO 3o ‘eAf<m 3T U9 Sash Tgfd ol TN hidt ®, % TR @rareg! §
T et w srfiere o 3t wefe Y @rg ewiisy

2012
T 1 UR{Eh I9—350 Sheal @ 52 Ufd 3hE hl X F

3T 4 I I &I 35—450 1Al € 50 Ufd 36 H T @
» 9 WY AR T 40—350 1Al € 50 Ufd 3ohE hl X @

STEd 6 grft srfemrgy gEA 18—600 gl

> T6 O SIEE0T GEaT 24—2420 Sohred
www.FirstRanker.com
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27. From the following information, preapre Cost Sheet for the period ended on
31st March, 2012 : 6

Direct Material—% 1,40,000

Direct Wages—¢ 60,000

Direct Expenses—¢ 11,600

Factory Overheads—75% of Direct Wages

Office and Administrative Overheads—25% of Works Cost
Selling and Distribution Overheads—% 27,400

Cost of Opening Stock of Finished Goods—¢ 15,500
Cost of Closing Stock of Finished Goods—% 17,500

Profit on Cost—30%

31 W€, 2012 I 99 afY & fore fefaRad g2+ @ ama o a9 Ry

Jeag |Hii—< 1,40,000

Jegel "Heigi—F 60,000

JIg =F—F 11,600

HIEMT IUNFT—T I TG T 75%

FETAE Td JIHF ITRAT—HREHT AN T 25%
forgpar wa farawon sufem—e 27,400

TR T o IRfEre Wi il ara—e 15,500

TR AT o AfH Wieh H Afa— 17,500

AT W TAH—30%

* k&
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